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IMERF (FER 40 cmki) AEKE (2 SHAR) FAEBR: $ME6E9H17,. 18H
SV | ARA ZZ EBA TISLVFE [YAAFESIRY[RFINETUNI| RFXFHIOX =5
BT bR | RFbRE | RRRER E BEBE FAEBE | HERE EHE
B o e | OB Tt | U Ton |Pon wex |FOEF wmm | o
RENT R X 0.0 0.0 0.0 0.0 | 0.000 0.0 0.08 4.0 0.0 0.0 4.0 1.0 32.0
REHRKER 0.0 0.0 0.0 0.0 | 0.000 0.0 0.20 16.0 8.0 2.0 16.0 4.0 35.0
I\ 0.0 0.0 0.0 0.0 | 0.000 0.0 0.36 16.0 8.0 2.0 0.0 0.0 22.0
R 6% 0.0 0.0 0.0 0.0 | 0.000 0.0 0.21 12.0 5.3 1.3 6.7 1.7 29.7
EEWIE) | 3 ki (3f) () ki ki % % Ppd L PP | Pl fig —
4 (fl4E) 0.0 0.0 (0. 6) (0.2)| 0.005 0.5 0.03 2.4 28.3 7.3 24.6 6.3 27.4
R5% 0.0 0.0 0.0 0.0 | 0.000 0.0 0.00 0.0 0.0 0.0 26.9 6.7 33.6
R4 % 0.0 0.0 0.0 0.0 | 0.000 0.0 0.03 0.7 6.7 1.3 5.3 1.3 26.2
R3 % 0.0 0.0 0.0 0.0 | 0.006 0.6 0.01 1.1 0.6 0.1 8.0 2.0 32.1
T R 2% 0.0 0.0 0.0 0.0 | 0.007 0.7 0.06 4.7 6.7 1.7 24.0 6.2 30.8
RITHE 0.0 0.0 2.0 0.5 | 0.000 0.0 0.13 7.3 30.7 1.7 20.0 50 30.5
H30& 0.0 0.0 2.0 0.5 | 0.007 0.7 0.00 4.0 22.0 5.7 32.7 8.2 29.3
H29% 0.0 0.0 0.0 0.0 | 0.030 3.0 0.08 1.0 31.0 7.8 17.0 4.3 25.5
H2 8% 0.0 0.0 1.6 0.4 | 0.000 0.0 0.00 4.8 76.0 21.2 68.0 17.8 28.2
H2 7% 0.0 0.0 0.0 0.0 | 0.000 0.0 0.00 0.0 30.4 7.6 43.2 11.6 19.9
H2 6% 0.0 0.0 — — 0. 000 0.0 0.00 0.0 78.17 20.0 1.3 0.3 17.7
R 6 0.0 0.0 0.0 0.0 100. 0 66. 7 66. 7
FE@IE) | 3 fid (ilfi) it % ki o
FE (BIF) 0.0 0.0 (8.2) 7.3 19.6 65. 6 71.8
R5% 0.0 0.0 0.0 0.0 0.0 0.0 71.4
R4 % 0.0 0.0 0.0 0.0 16.7 83.3 33.3
® R 3% 0.0 0.0 0.0 14.3 14.3 14.3 71.4
21%.‘1: R2% 0.0 0.0 0.0 16.7 50.0 66. 7 83.3
RTE 0.0 0.0 16.7 0.0 50.0 66.7 83.3
H3 0% 0.0 0.0 16.7 16.7 0.0 50.0 66. 7
H2 9% 0.0 0.0 0.0 25.0 25.0 75.0 75.0
H28% 0.0 0.0 40.0 0.0 40.0 100.0 100. 0
H2 7% 0.0 0.0 0.0 0.0 0.0 100.0 100. 0
H2 6% 0.0 0.0 — 0.0 0.0 100. 0 33.3
AR E (EE40 cmbb)AEHE (2 5%RE) $ER : $H649A17. 18H
XU | BB | NE | AZE0n SOAFECARY | NAEVI LD [RENEIUNL] RXFFIIR |
AEGA RAKE | RAKE | RAKE | RAKRE R R FEKRE BEKRE | FEKE  BEKRE | HEKRE e WEKRE e ?ff
(%) (%) (%) (%) = | %) (%) (%) (%) (%) (%) == (%) ==
RENTPE R X 0.0 0.0 0.0 0.0 0.0 0.00 0.0 0.0 0.0 0.0 0.0 0.0 4.0 1.0 50.0
RETRER 0.0 0.0 0.0 0.0 0.0 0.12 16.0 36.0 0.0 0.0 8.0 2.0 52.0 13.0 50.0
I\ 0.0 0.0 0.0 0.0 0.0 0.00 0.0 4.0 0.0 0.0 0.0 0.0 8.0 2.0 41.0
R 6 0.0 0.0 0.0 0.0 0.0 0.04 5.3 13.3 0.0 0.0 2.7 0.7 21.3 5.3 47.0
FEJBIE)E] 3 fid fig (dt) (3) [ CovE) | (ppE) | (PvF) fid W | o) | e | (wed) | (ern —
T4 (il £E) 0.0 1.4 0.0 (1.1 (0.3)] (0.0 @D (13.9) 0.0 0.0 (.1 (.4| 41.8): (11.0)| 50.2
R5% 0.0 0.0 0.0 0.0 0.0 0.01 1.3 1.3 0.0 0.0 6.7 1.7 38.7 12.0 55.0
R4 % 0.0 0.0 0.0 0.8 0.2 0.01 0.8 4.0 0.0 0.0 0.8 0.2 15.2 3.8 48.0
R 3% 0.0 1.3 0.0 0.0 0.0 0.01 1.3 3.3 0.0 0.0 0.0 0.0 28.7 9.2 50.5
B R2% 0.0 0.0 0.0 0.0 0.0 0.05 4.7 10.0 0.0 0.0 6.0 1.7 19.3 4.8 49.8
RTE 0.0 0.0 0.0 0.0 0.0 0.32 8.0 21.3 0.0 0.0 41.3 9.5 46.0 11.5 45.1
H3 0% 0.0 0.0 0.0 0.0 0.0 0.00 0.0 47.0 0.0 0.0 4.0 1.0 35.0 8.8 48.5
H2 9% 0.0 5.1 0.0 2.9 0.7 0.03 2.9 10.3 0.0 0.0 54.9 13.7 82.3 21.0 58.0
H28% 0.0 0.0 0.0 6.4 1.6 - - - 0.0 0.0 71.2 17.8 82.4 20.6 45.6
H2 7% 0.0 5.3 0.0 0.0 0.0 - - - 0.0 0.0 14.0 3.5 29.0 7.3 51.3
H2 6% 0.0 2.0 0.0 — — — — — 0.0 0.0 — — — — 49.8
R 6% 0.0 0.0 0.0 0.0 33.3 66. 7 0.0 33.3 100. 0
EEJIE) ] 3 ki fig (3lfi) (%) (%) kg (4) (3f)
4 (fl4E) 0.0 14.8 0.0 (16.8) (31.6) (57.7) 0.0 (66. 3) (87.8)
R5% 0.0 0.0 0.0 0.0 28.6 28.6 0.0 28.6 85.7
R4 % 0.0 0.0 0.0 14.3 14.3 42.9 0.0 42.9 71.4
. R3 & 0.0 16.7 0.0 0.0 33.3 50.0 0.0 0.0 83.3
§%$ R 2% 0.0 0.0 0.0 0.0 50.0 83.3 0.0 66. 7 66. 7
RITHE 0.0 0.0 0.0 0.0 66. 7 66. 7 0.0 83.3 83.3
H30& 0.0 0.0 0.0 0.0 0.0 75.0 0.0 75.0 100.0
H29% 0.0 14.3 0.0 57.1 28.6 57.1 0.0 100. 0 100. 0
H2 8% 0.0 0.0 0.0 80.0 - - 0.0 100. 0 100. 0
H2 7% 0.0 66. 7 0.0 0.0 - - 0.0 100. 0 100. 0
H2 6% 0.0 50.0 0.0 — — — 0.0 — —
(BERIEE) = > = 3 5 FXATENR RREENRAEEE
U 9 ~20 L ~40 L ~60 1~100 SFREA | SREROST%LECHERAROONS.
FENET UNL | hERE BED 0 ~25 | ~50 | ~75 [~100 RFEEEB : EREHRO21~0%IHFHARBOLND.
FEXFHIY< | mEEE ED 0 ~25 ~50 ~75 | ~100 RFREC  LEEHD11~20%IHmENBHOND,
RFRED ¢ 2EEED1~10%ITHEHNROLND,
X NEFTUAI, FHIYIOBWEE= (4A+3B+2C+D) ~ (25x4) x100 RFEREE . BRORENBOHLNGL.
A THEEEE ~100%
B: 1HBEER ~50% HimE = 4A+3B+2C+D x 100
C: 1HHEER ~30% 4 x AEBE
D: 1HBEER ~10%




